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int x,y,2,m; Tci | 335 5 Test case
1: read("Enter 3 numbers:",x,y,z); TC2 1,2,3 2 @ O
2: m=z; TC3 3,2,1 2 —
3G TCi | 555 : TC2 O |4 [Testcase
g: if x<(y) TC5 | 2,13 2 TC1
: m=y,
6: else if ()Z(Z) Eﬂ —/—\"E- TC2=— @' A
7: m=y, //*"‘*bug"‘** 7_"0]}\ J
8: else . V4
0: if x)y)
T ] mf=(y; ) /I / Y
11: i
T me AAFE 3 1. HAE
13: print("Middle number is:",nf /
} Pass/Fail Status [ A
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Line SourceCode TC0001]TC0002]TC0003] ... [TC4071 Tarantula | Rank
257 fint print_token(tok) 45
258 | token tok; 45
259 [{ int type; 1 1 1 1 0.5 43
260 type=token_type(tok); 1 1 1 1 0.5 43
261 if(type==error) 1 1 1 1 0.5 43
262 { fprintf(stdout, “error,\"%s\".\n",tok); 1 1 1 0 0.60522 | 34
263 45
264 if(type==keyword) 1 1 1 1 0.5 43
265 {fprintf(stdout, “keyword,\"%s\"_\n",tok); 1 1 0 1 0.74813 | 25
266 45
267 if(type==spec_symbol)print_spec_symbol(tok); 1 1 1 1 0.5 43
268 | if(type==identifier) 1 1 1 1 0.5 43
269 {fprintf(stdout, "identifier,\"%s\".\n",tok); 1 1 1 1 0.78956 | 22
270 45
271 if(type==num_constant) 1 1 1 1 0.5 43
272 {fprintf(stdout, "numeric,%s.\n",tok); 1 1 1 0 0.89587 | 10
273 45
274 if(type==str_constant) 1 1 1 1 0.5 43
275 {fprintf(stdout, "string,%s_\n",tok); 1 0 1 0 0.9156 8
276 45
277 | if(type==char_constant) 1 1 1 1 0.5 43
278 {tok=tok+1; 1 1 1 0 0.94597 5
279 fprintf(stdout, character,\ %s\ .\n ,tok); 1 1 1 0 0.94597 5
280 3 45
335|static int is_char_constant(str) 45
336 token str; 45
337 [{ 1 1 1 1 0.5 43
338 it ((*str)=="#" && isalpha(*(str+1))) 1 1 1 1 0.5 43
339 return(TRUE) ; 1 1 1 0 0.94597 5
340 else 45
341 return(FALSE); 1 1 1 1 0.5 43
342} 1 1 1 1 0.5 43
343 45
349 | static int is_num_constant(str) 45
350 token str; 45
351 1{ 1 1 1 1 0.5 43
352 int i=1; 1 1 1 1 0.5 43
353 45
354 it ( isdigit(*str)) 1 1 1 1 0.5 43
355 { 45
356 while ( *(str+i) 1= "\0" ) /* until meet token 1 1 1 0 0.89427 | 11
45
0 [
return(TRUE) ; 0.89587 10
364 3 45
365 else 45
366 return(FALSE); /* other return FALSE */ 1 1 1 1 0.5 43
3671} 1 1 1 1 0.5 43
368 45
374 |static int is_str_constant(str) 45
375 token str; 45
376 [{ 1 1 1 1 0.5 43
377 int i=1; 1 1 1 1 0.5 43
378 45
379 it ((*str ==""7) 1 1 1 1 0.5 43
380 { while (*(str+i 0") /* until meet the © 1 0 1 0 0.91392 9
381 { if(*(str+i 1 0 1 0 0.91392 9
382 return(TRUE) ; /* meet the seco 1 0 1 0 0.9156 8
383 else 45
384 1++5 1 0 1 0 0.9156 8
385 3 /* end WHILE */ 1 0 1 0 0.9156 8
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int x,y,z,m; uLLseve | &L R R
1: read("Enter 3 numbers:",x,y,z); : V| iV iV v v v
2. m =z, - ViV VI VI V|V
3. if (y<2) NC&VER Viviviviviv
4: if (x<y) _ . vV v viv
5: m=y, Cﬁu—‘l“f ovel v
6: else if (x<z) v Vi v
. —_ . Heskeske Hesleske
g else — Y Vi v v
0: if ) v v
10: m=Yy, v
11:  else if (x)2) v
12: m = X,
13: print("Middle number is:",m); VI iv ivi ivI ivi v
} Pass/Fail Status

A ————————————————~,

Statistical analysis
(Similarity & Distance

coefficient)

1. TARANTULA, 2. AMPLE, 3. Jaccard, 4.
Dice, 5. CZEKANOWSKI, 6. 3WJACCARD, 7.
NElandLl, 8. SOKALandSNEATH_1, .
SOKALandMICHENER, 10.
SOKALandSNEATH2, 11.
ROGERandTANIMOTO, 12. FAITH, 13.
GOWERandLEGENDRE, 14. INTERSECTION,
15. INNERPRODUCT, 16. RUSSELLandRAO,
17. HAMMING, 18. EUCLID, 19,
SQUARED_EUCLID, 20. CANBERRA, 21.
MANHATTAN, 22. MEAN_MANHATTAN, 23.
CITYBLOCK, 24. MINKOWSK, 25. VARI, 26.
SIZEDIFFERENCE, 27. SHAPEDIFFERENCE,
28, PATTERNDIFFERENCE, 29.
LANCEandWILLIAMS, 30. BRAYandCURTIS,
31, HELLINGER, 32. CHORD, 33. COSINE,
34, GILBERTandWELLS, 35. OCHIAIT, 36.

FORBESI, 37. FOSSUM, 38. SORGENFREI, 39.

MOUNTFORD, 40. OTSUKA, 41.
MCCONNAUGHEY, 42. TARWID, 43.
KULCZYNSK2, 44. DRIVERandKROEBER, 45.
JOHNSON, 46. DENNIS, 47. SIMPSON, 48.
BRAUNandBANQUET, 49.
FAGERandMCGOWAN, 50. FORBES2, 51.
SOKALandSNEATH4, 52. GOWER, 53.
PEARSONT1, 54. PEARSON2, 55. PEARSONS3,
56. PEARSONandHERONT1, 57.
PEARSONandHERON?2, 58.
SOKALandSNEATH3, 59.
SOKALandSNEATHS, 60. COLE, 61. STILES,
62. OCHIAI2, 63. YULEQ, 64. YULEw, 65.
KULCZYNSKI1, 66. TANIMOTO, 67.
DISPERSON, 68. HAMANN, 69. MICHAEL,
70. GOODMANandKRUSKAL, 71.
ANDERBERG, 72.
BARONI_URBANIandBUSER1, 73.

BARONI_URBANIandBUSER2, 74. PEIRCE, 75.

EYRAUD, 76. Naish
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S| = < | & © | & S 2
05| 4 0 9 0.41| 5 0.17| 4
05| 4 0 9 0.41| 5 0.17| 4
05| 4 0 9 0.41| 5 0.17| 4
0.63| 3 04| 3 05] 3 0.25] 3
0 8 02| 6 0 8 0 8
0.71] 2 0.6 | 2 0.58| 2 0.34| 2
0.83] 1 08 ] 1 0.71] 1 05 1
0 8 04| 3 0 8 0 8
0 8 04| 3 0 8 0 8
0 8 02| 6 0 8 0 8
0 8 02| 6 0 8 0 8
0 8 0 9 0 8 0 8
05| 4 0 9 0.48| 4 0.17| 4
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M{[do{ ) S |a | A S~ ;]r"—é'— e HAEACIAE A GRS S| £ 2 & © | &
int x,y,z,m, Al eS| | [ NSNS =
1: read('Enter 3 numbers:",x,y,2); |V |V |V |V |V |V vV v v Vv Vv 05| 4 0 9 0.41| 5
2 m=z; ViV I V|V | iV | Vv L. g AEFA oA Y Vi iV iv iV v 05| 4 0 9 0.41| 5
3. lf (Y<Z) Vi iv Vv v V| v —T—@,ﬂ_i\_ ]O EEH_E'% 7131@-1_ Vi iv | iV I iV v 0.5 4 0 9 0.41 5
41 if (x<y) v\ v vV v g A E #|o] Aut A€k v vV iv|v]| [063] 3 04] 3 ||05] 3
5 m=y; v v o] 8 |[02] 6 0| 8
6: else if (x{z) v vi|v N Py v v v 0.71] 2 0.6 2 |]058] 2
7 m=v, /[ ™ bug™ |V v fﬂgﬂg—ﬂl—;yg— AT o Fail v v 083 1 |[08] 1 |[o71] 1
8. else viv = Pass 5 Fai v 0|8 |[o4] 3 |[ 0] 8
L S5€ 2 gFdlel 4PHoz A7 :
0:  if®y) viv e v 0 | 8 |[04]3 0| 8
10: m=y; 0 8 0.2 6 0 8
T e = HAEAOLL SRS} v o[0T ] [ o]s
: m =X, 7 HAEA 0|20 $41e]
13: print("Middle number is:",m); |V |V |V |V |V |V 280 YA N vV v v v v 05| 4 0 9 0.48| 4
} Pass/Fail Status
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v GithubZ 7I% (https://github.com/jeonghodot/SWQR)

» Apache License Version 2.0

v BA 3}
» QFAIHAIA (http://naver.me/GCRKhJWG)
» AAGAA (http://naver.me/x3Lf9car)

_ A
v’ o] ¥ (Java, Python, Perl 5)
v AR AE 71 7
v HIAEA|A Fe] 7| F7}

. B8 et
- 9EAX AMEY ] AFE ¥t 7)E
vV NE WA ANZOESA, 74, ARUE, Holils 5) + A

- 94 B £79 AF cnurro
v" Github, Sourceforge

- g =7t A%
v" Eclipse, Visual studio, Vi editor
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X 100

— AA =2 o] HF 2.8%% AAFeHH AA| 2R A 75 (Tarantula 7|
)
Average of EXAM score
Program Version | LoC | Test case Description Tarantula | AMPLE | Jaccard
printtokens 7 565 4140 lexical analyzer 1.5244 0.4962 1.0635
printtokens?2 10 510 4071 lexical analyzer 3.6873 4.4510 4.4503
replace 32 563 5542 pattern recognition 2.5535 2.7669 2.3250
schedule 9 412 2650 priority scheduler 0.8330 2.7970 0.8330
schedule? 10 307 2680 priority scheduler 4.8648 6.8478 4.6843
tcas 41 173 1578 altitude separation 3.0875 3.7913 3.0444
totinfo 23 406 1054 information measure 0 3
TOTAL 132 |2936| 21715
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